Addition With 5 Digit Numbers

L 56833 2 68640 > 92195

+ 44105 + 28360 + 17742

“ 28446 > 68586 6 94929

+ 55824 + 75019 + 68567

7 84658 8 71778 ’ 34522

+ 85858 + 88411 + 45861

10. 99394 1L 98584 12. 16373

+ 46453 + 52426 + 26611
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Subtraction With 5 Digit Numbers

1. 714321 2. 52413 3. 85232
-13934 -23120 -71401
4. 32653 5. 53145 e. 46581
-18341 -32672 -13623
7. 85913 8. 29314 9. 25521
-33575 -13023 -12014
100 91789 1. 73471 122 76743
-58816 - 64342 -62102
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Read the problems and answer them in your head.

10.

Mental Maths Adding

Add together 40p, 70p and 30p.

What is the total of 15, 19 and 23?

. Lauren was given some money for

her birthday. Her brother gave her
£2.50, her sister gave her £1.00 and
her grandma gave her £4.50. How
much did she get in total?

Omar collects 68 bus tickets and
34 train tickets. How many does he
have in total.

Caroline has 2 bags of apples. One
bag has 13 red apples in and the
other bag has 24 green apples. How
many apples does she have in total?

. What is the sum of 38, 20 and 877

. Samir buys three chocolate bars.

The first costs 62p, the second costs
59p and the last costs 70p. How
much did he spend in total?

. A teacher gives out 16 pencils on

Monday, 22 on Tuesday and 29 on
Thursday. How many pencils did she
give out in total.

How much is 84p plus 39p plus
47p7?

Three sacks of potatoes were
delivered to a shop. They weighed
18kg, 35 kg and 27kg. How much
did they weigh in total?

11.

12.

13.

14,

15.

16.

17.

18.

19.

20.

Hannah has 58p and Max has 74p.
How much do they have in total?

Jenny runs for 46 seconds and Ali
runs for 73 seconds. What was the
total time they ran for?

A shop has 78 ripe plums and 22
rotten ones. How many plums are
there altogether?

What is the total when 72 is added
to 38?

Mohammed finds 73p on is way to
school and 12p on his way home.
How much did he find in total?

Tarek collects drawings of owls. He
has 24 drawings and his friend gives
him 16. How many drawings does
he have now?

There are 32 children in one class
and 28 children in another. What
is the sum of the children in both
classes?

Scott has 39p and Robert has 84p.
What is the total amount of money?

Ashton gets 59p pocket money. She
then finds 65p under her bed. How
much does she have in total?

What is the total when 34 is added
to 497
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